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PART - A
Language Proficiency
(Expected Answering Time : 20 Minutes)

Direction (Question No. : 1-5)

Read the passage carefully and answer the questions that follow choosing the most
appropriate alternatives.

Water is the basis of all life. Every animal and every plant contains a substantial proportion
of water in its body, and no kind of physiological activity is possible in which the fluid does
not play an essential role. Water is, of course, necessary for animal life, while moisture in
the soil is equally imperative for life and growth of plants and trees, though the quantity
necessary varies enormously with the species. The conservation and utilization of water is
thus fundamental for human beings and plant world. The harnessing of our rivers, the waters
of which now mostly run into waste, is a great national problem which must be considered
and dealt with on national lines. Vast areas of land which at present are mere scrub jungles
or uncultivated could be turned into fertile and prosperous land resource by well-planned
action. Closely connected with the conservation of water is the issue of afforestation. The
systematic planting of suitable trees in every possible or even in impossible areas, and
development of what one can call civilized forest, as distinguished from wild and untamed
forest, is one of the urgent needs of India. Such plantation would directly or indirectly prove
a source of untold wealth for the country. They would check soil erosion, conserve the rain
water, improve air quality, reduce pollution and provide different kinds of forest resources.

1. Which of the following is stated as a national problem in the passage?
(1) The issue of afforestation
(2) Wild and untamed forest
(3) Vast areas of uncultivated land
(4) Proper control and utilization of river water

2. Which of the following is not mentioned in the passage?
(1) Moisture helps in growth of plants.
(2) River waters are mostly wasted.
(3) Government has initiated developing forest in every place.
(4) Conservation of water and afforestation are related.

3. Which of the following is close to the expression ‘social forestry’?
(1) Scrub jungle
(2) Wild forest
(3) Civilized forest
(4) Untamed forest
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4. What is stated as one of the most urgent needs in India at present?
(1) Conservation of rain water
(2) Plantation of tree in all possible places
(3) Appropriate utilization of water
(4) Reducing pollution level

5. How can the uncultivated land be turned into fertile land?
(1) Proper water conservation
(2) Appropriate utilization of water
(3) A comprehensive well planned action
(4) Proper channelization of water

6. Find out the part which has an error in it.

Shemet  one of her old friend during her journey to a place of pilgrimage.
A B C D
(HA
2)B
3)C
4D

7. Which is the correct phrasal verb for the underlined portion in the sentence?
The teacher could not tolerate the misconduct of the student.
(1) Bear upon
(2) Bear with
(3) Bear up
(4) Bear out

8. To be in ‘seventh heaven’ means
(1) to fly in the air.
(2) to be extremely happy.
(3) to be completely alone.
(4) to visit a place which is in the list of seven wonders of the world.

9. Choose the word that has been correctly spelt.
(1) GARRAZE
(2) GARAZE
(3) GERAGE
(4) GARAGE
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10. Select the appropriate word for the blank space.

Itistruethat forest prevents erosion.
(1) lean

(2) dense

(3) sparse

(4) tidy

Direction: (Question No. : 11-15)

Read the passage carefully and answer the questions that follow choosing the most
appropriate alternatives.

The rule of the road means that in order that the liberties of all may be preserved, the liberties
of everybody must be curtailed. When the traffic police, say at a road-crossing steps into the
middle of the road and puts out his hand, he is the symbol not of tyranny but of liberty. You
have submitted to a curtailment of private liberty in order that you may enjoy a social order
which makes your liberty a reality. We have both liberties to preserve our individual liberty
and our social liberty.

That is, we must have a judicious mixture of both. I shall not permit any authority to say that
my child must go to this school or that, shall specialize in science or arts. These things are
personal. But if I say that my child shall have no education at all then society will firmly tell
me that my child must have education whether I like it or not.

11. According to the author ‘the rule of the road’ implies

(1) the rules regarding the traffic on the road.

(2) the principles on which a road is constructed to ensure safe traffic.
(3) unrestricted freedom for all to use road.

(4) restricted individual freedom to ensure freedom for all.

12. The author thinks that when a traffic polices signals you to stop on a road....., s’he is

(1) behaving in a whimsical manner.

(2) interfering with your freedom to use the road.

(3) protecting the liberty of all to help everybody use the road.
(4) mischievously creating hurdles in your way.

13. The author is of the view that we should

(1) have absolute individual liberty without any restriction imposed by the society.

(2) have everything, controlled by the society without any kind of individual liberty.
(3) try to strike a sensible balance between our individual liberty and our social liberty.
(4) have more of social liberty than individual liberty.
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14. The author holds that
(1) educating or not educating one’s child is a matter of personal liberty.
(2) educating or not educating one’s child is a matter of social liberty.
(3) choosing the school for one’s child is a matter of social liberty.
(4) choosing the subject of study for one’s child is a matter of social liberty.

15. The most suitable title for the passage would be:
(1) Role of Traffic Police at a Road Crossing
(2) The Laws of the Road
(3) Importance of Liberty
(4) Education for Children

16. Choose the correct preposition to be used in the blank.
All students will be encouraged participate.
(1) for
(2)to
3)in
(4) on

17. Select the word you consider most appropriate for the blank space. He is too coward to make
it

(1) happens
(2) happened
(3) happening
(4) happen

18. In the sentence- “The children played happily in the park,” what is the function of ‘happily’?
(1) Subject
(2) Verb
(3) Object
(4) Adverb

19. Choose the correct one.

(1) I met a beautiful, British person.
(2) I, met a beautiful British person.
(3) I met a beautiful British person.
(4) I met, a beautiful British person.

20. Which of these is not a punctuation mark?
(1) Comma
(2) Full stop
(3) Semi colon
(4) Hashtag
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PART -B
Teaching Aptitude
(Expected Answering Time : 40 Minutes)

21. farers = < T8 a0 AT AR W

21. A teacher should focus more on

22.

(1) the use of teaching-learning materials
in the class

(2) the classroom management

(3) engaging children for personalized

learning

(4) the coverage of the curriculum in the
specified time

A sound method to handle
adjustment problems of children in the
classroom is to

(1) give extra tasks to keep them engaged

(2) counsel them in collaboration with
parents and other teachers

(3) isolate them from all curricular and
co-curricular programmes

(4) ignore their presence in the classroom
activities

| )

(1) 3-year programme in Anganwadi

(2) 2-year programme of Foundational
stage
(3) 1-year programme before Grade-I

(4) Last year of the Preparatory stage of
schooling

(1) e # foreror-srfemmr |l &% ST
KLY

(2) FeAT-gaET

(3) F=frw srfemm & forw st 1 fAafoa
FAT

(4) FfEE aug o & e are=Et w7

T FHILAT

the 22 wer & Refiar f aUESW-g9I=T FTT

Fefa = it s R S E2

(1) == FT FeEd @+ e R
TS FZA &7

(2) sfsramast o7 s et % agaw o
SAHT ATELT FLAT

(3) S72 UTEI=EAT 3T WEEE ATEIHAT &
FIEFAT & T T@AT

(4) =ear FY afafafeat a st suftafy =

TSTCETST AT

23. As per NEP 2020, Balvatika programme 23 iy fararifer 2020 ¥ SIqETX sTeraTieshT

FEFA____ R

(1) ETHETS § A aofiT FrEwT
(2) STYTT T YL &7 THT FTAFH

(3) =17 TgH 1-aT FAFH
(4) e ¥ T 3 & | 7 s
EL
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24. A National Repository of high-quality 24 wYfers sraaT A eI R IgaA &
resources on foundational literacy and

numeracy is * = Rl
STaT B
(1) DIKSHA (1) DIKSHA
(2) NISTHA (2) NISTHA
(3) SIKSHA (3) SIKSHA
(4) SAMIKSHA (4) SAMIKSHA
25. Computer Assisted Instruction is based 25, Wmﬁ%ﬂ ¥ fRratar
on the principles of ......
prinep I ATETRA Bl
(1) Classical Conditioning (1) emTET e
(2) Operant Conditioning (2) TraTes e
(3) Pavlovian Conditioning OIRIERIEETIERC &R
(4) Respondent Conditioning (4) STALETAr AqFAT

26. Which of the following situations would 26, gaifgs stfirm g ¥ fow RefRa
be the best for maximum transfer of
Fr-t Rafy S §?

learning?

(1) Different tasks requiring different (1) faferer afafrar sregs Faam fafe=

responses

FTH

(2) Similar tasks requiring different ) fafere ol sraers Fa
responses -

(3) Different tasks requiring the same (3) FwT™ gfafaT sraeas FLaarer fafse
response S

(4) Similar tasks requiring the same (4) THETT gfafraT e F31 919 T gpr

response
TRTT F FT
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27. Which of the following is the most 27 firgor % fAw # & HA-H7T FAtfew Tl

important element in teaching?
P & IYTET 7

(1) Subject matter discussed in the (1) FeT & == st T2 rvgaeg

classroom
(2) Relationship between teachers and (2) Torers-fommeff & €= "ay
students
(3) Teaching techniques and aids used (3) faveror SorTett &< ST & ATE ST =ATeAT
fRveror TR
(4) Student's knowledge (4) faenfi=t =

28. Which of the following is the biggest 28, ey F Thwor & gaq IE A8 FA-HY §?
barrier to communication in a

classroom?

(1) Confusion on the part of the teacher (1) foversr =1 9

(2) Lack of teaching aids (2) foreor aTRft &1 oo
(3) Outside disturbance OEEIDEL: LY

(4) Noise in the classroom (4) FET H FrRA

29. Which is NOT required for an effective 29, goer @dwor 3 forg #9-a7 straeas 7E( 87

communication?

(1) Appropriate gestures (1) I -1

(2) Speech modulation (2) FAT-S0 T SATC-TETH
(3) Charming personality (3) garfaee =afeer

(4) Good knowledge of the content (4) Tarwraeg =7 sy T

30. ‘Learning without Burden’ is the title of 3, ‘qyer-<Ra stftrerr’ fFa afafy s & R

the report of which committee/

commission? T < &7

(1) Adiseshiah Committee (1) sfeemmar afafy
(2) Ramamurthy Committe (2) TEgfT gt
(3) Verma Commission (3) =HT T

(4) Yashpal Committee (4) eaTer wiafa
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31. Which of the following structures (in 31, Ty farer AR 2020 T RraTerfi= favaT

32.

33.

terms of years for each stage) has been
recommended for the school education
by NEP 2020?

(1) 5+3+2+2
(2) 3+5+2+2
(3) 5+3+3+4

(4) 4+3+3+2

Which of the following is the best 33,

approach to promote values among
school children?

(1) Integrating values in teaching-

learning of curricular subjects

(2) Keeping a value education period in
time table

(3) Engaging special teacher to teach
value education

(4) Arranging talk on value education by
experts

For an effective teaching, there should 33,

be

(1) more interactions with learners in the
class.

(2) perfect discipline in the class.
(3) uninterrupted lecture by the teacher.

(4) more PPT presentations by the
teacher.

* w@% g9 ¥ g ok ¥ R & wra-dt

T dega M TEY?

(1) 5+3+2+2

(2) 3+5+2+2

(3) 5+3+3+4

(4) 4+3+3+2

o ¥ Renfiat § gt 1 fFa A &

o fAw % & sF-ar ST A 7

(1) -t & foreror-srfamm & geat &1
SEIRIEE]

(2) FEF-TON § goa-u<e freT & ore wh
FET 1 AT

(3) gea-favert & fareror & forw fafere fovereni
1 frafe

(4) Ror-fFEawst g geE-faEr ™
ST FT AT

yHTaTE T frer & fRrg
BT 9TRT

(1) eAT § BTAT F AT SATeF e rahar

(2) FaT & I srgerra Hit v
(3) foreresr gy sraTfaa =A™
(4) forerr g st . f, & e

2024/A
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34. Which of the following factors is most 34, sfRwry Fr Rl w@ 26T STATIATHT Fo1-

3S.

36. A teacher wants the gifted children of 3¢,

important for creating an effective
classroom environment?

(1) Implementing technology and digital
tools

(2) Maintaining strict discipline and clear
expectations

(3) Fostering open dialogue and student
participation

(4) Prioritizing memorization and rote
learning

Which of the following is indicative of 35,

quality of teaching?

(1) Stress on discipline while teaching

(2) Standard of questions raised by
students in the classroom

(3) Quality of teacher’s explaining the
concepts

(4) Pass percentages of the students

her class to achieve their potential.
Which of the following should she avoid
to achieve her objective?

(1) Teach them to enjoy non-academic
activities

(2) Teach them to manage stress

(3) Segregate them from their peers for

special attention

(4) Challenge them to enhance their
creativity

7 I A ¥ Rfg f-ar ww
wA e FEerg 87
(1) srenfRrERT =it fefSres STweon &7 T

(2) FBX FqATER AR TIE LT AT
faate

(3) T HaTe T AT A gEgATHAT FH
ST

(4) wHL AT AT LT F FTAHEAT
AT

e & & FY-aT ot fRreAoT T g 87

(1) TRr&7o7 3 T SATET T T A7
(2) e ¥ it gy 9@ Tu e # Ew

(3) ATYTIOT TIE <A | faversh =7 q18=d
(4) ot gt %7 wiaed

T fvers sroY Fer F giorwmeeht Rty

T siafefRe I T ATH FAT ITAT §1 TGN

e q% g9 » e uw Rem A R

T L FTAT ATRC?

(1) 37 i-Serfor wfafafea &1 ST
T T TR0 ST

(2) AT = AT w7 foreqor T

(3) 39 I fH9¥ &A= T F w5 e
AEATISAT & ST T A7

(4) ST GAATHRAT T fAwTer FA & forg
IR AT AT

2024/A
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37. Which of the following is NOT a 37 fm & ¥ fv-q7 dafls &7 ¥ IART T9T

characteristic feature of intrinsically

motivated children? # ey &2
(1) They always succeed (1) Faim e
(2) They enjoy doing their work (2) & s Tt T e A

(3) They display a high level of energy (3) FTH FLq THT o orfcF &1 gqEAT TILT
while workin )
. T E

(4) They like challenging tasks (4) F ATl FT aEE AT

38. In which of the following skills, is testing 38, fRmffem Faet § ¥ FEd w@aw ==

of previous knowledge is required?

LT A 87
(1) Skill of demonstration (1) W= FrereT
(2) Skill of introduction (2) EaTEAT FIITT
(3) Skill of stimulus variation (3) TErouT fF=eT FT Fraer
(4) Skill of closure (4) =TT T FIqA

39. Which is NOT an obstacle in problem 39, gweyy gomaT ¥ forg ®\9-a7 g LT 872

solving?

(1) Anxiety (1) 38T

(2) Insight (2) swsfy

(3) Frustration (3) =gt

(4) Negative mental set (4) THRTHE AIATRRAT

40. Which of the following is NOT related to 40, #f3rx SRedT F GHATHS FEGT § HiA-AT
the Cognitive Domain of educational

objectives? s e &7
(1) Knowledge (1) I

(2) Application (2) w=mT

(3) Valuing (3) EaTEA
(4) Understanding (4) Tw=T
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41.

42.

43.

44.

Demonstration is a method.

(1) Learner-centered
(2) Teacher-centered
(3) Subject-centered

(4) Curriculum-centered

“Individual learns from his/her own
mistakes” This statement is based on
which learning theory?

(1) Instrumental conditioning
(2) Insightful learning
(3) Trial & Error

(4) Classical conditioning

Special education is related to ...

(1) Educational programmes for talented
students

(2) Educational programmes for visually
impaired students

(3) Training programmes for teachers

(4) Educational programme for slow
learners

What type of evaluation identifies

learning deficiencies and difficulties of
learners?

(1) Placement
(2) Summative

(3) Continuous

(4) Diagnostic

41.

42.

43.

44.

B

(1) fereareft sfesa
(2) steATIF Hieaq
(3) faw Ffeea

(4) "rsE==t FivEa

wee #t fRAfY )

iR ot iAo drEar 17 a8 w99
e srférmr R < sreRa &7

(1) ST ATH
(2) sragfeyt srfdmm
(3) I ST AfE

(4) TETT ATEeT

fafare fare d geifaT §)

(1) gfasremelt fRFenfiat & oo afem
FTAFH

(2) gEarfea fEentimi ¥ o dfms
FTAFH

(3) sreaTuT F forw wfereqor i

(4) T iy F Hem o FentiET ¥ o
fRreror e

fRrenfiat it s st sifeere wFy
T F g e wa # T geare e
ST &2

(1) =¥ A

(2) TRITEHT

(3) fdax

(4) FEETHS

2024/A
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45. Which of the following statements is 45 fw Fqaf ¥ ¥ THAT® AT J

46.

47.

associated with Constructive learning?

(1) Children make meaning and create
knowledge

(2) Children are blank slates, knowledge
is to be given

(3) Children
memorise

learn best when they

(4) Children learn when they are made to
compete with each other

A school teacher needs to build a 4¢.

conducive learning environment for
children in the class. This means taking
care of the child’s

(1) marks and grades
(2) emotions and feelings
(3) sports and physical education

(4) arts and craft education

Children normally ask questions in the 47,

class. Suppose, as a teacher you don’t
know the answer. What would you do?

(1) Ignore the question asked by the child
(2) Try to find out answer alohg with the
child

(3) Twist the question to something you
know and try to satisfy the child

(4) Say that it is not relevant to the text
content

Hafaa &1

(1) et srsf fReprerse s 1 A=t w2
g

(2) far=mfT FT 9gT €, 378 [ T AT
=R

(3) 59 Y T AT § I qHA ¥ FATAF
Wraq §

(4) agt T UF @Y ¥ TigEdT FEm
SATaT e §

w7 ¥ RBenfiat ¥ g seams & Sugw
stftrrr af3e #1 Fwfor wEaT STEAT & @
SO et & e a1 9= e T =R
(1) s AT UL

(2) SeaTa ST AT

(3) wFe T TaTeeg-feraaT
(4) =T 3N FEaTHAT 81T

fRemdft aavaT: FaT § v gua g AW
“hfore & T sreame & w7 § g I i
ST g1 1 ST 3797 HEA?

(1) TE=meff 3 wo1 Y ASTeeTS RET/ARET

(2) s=x Frenfdat € 7 & 39T aW A
FITRTST FETT/ AT

(3) AL ST & STYTT T T3T T T AT
e el #1 §9q === 1 =
FeTT/AfY

(4) =g FEmA 7 s § wetaw T e

2024/A
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48. Teachers can  effectively arouse 48, syegrow fenfiat & poeaTds okt 2
curiosity in students by:

AW #T qHA §7
(1) giving more practice in written work (1) forferg = & arfaes smvame &1 9|
i
(2) conducting frequent unit tests (2) TR-a e T FF
(3) asking thought provoking questions (3) faemeff & 33 w1 =
(4) providing more opportunities in (4) W FT 3TF F9< T F4F
sports
49. Which of the following is the best time to 49, Rzmff % sfawrr w1 TP FA TG RT &
assess students’ learning? 3 Fea7 T ga S "
(1) At the beginning of the instruction (1) AT £ s |
(2) At the end of the instruction (2) 975 % @ B9 T
(3) At the end of unit of instructions (3) eHTE-foveror F s F
(4) Throughout the lesson (4) TT TS T&TH FIA +

50. Multidisciplinary approach in 50, freaT A TgRATIEH TR T o qTH
education refers to learning a

concept AU T HiE F Hefera g
(1) from different perspectives & sources (1) e g ik s &

(2) from different sources of learning (2) srfeRT = ot st o

(3) by different methods and approaches (3) fafers fafe e surm &
(4) from different subjects (4) fafersr ﬁmﬁ T
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S2.

53.

PART -C
Reasoning Ability
(Expected Answering Time : 60 Minutes)

51. What will come next in the following 51, Rwuff¥ st i gu=T ¥ FAATIE A

letter series?
A,B,C,E,H, M, ?

() R
Q) U
3V

(4) X

Three of the four numbers given in the 353,

options are alike in a certain way and
one is different. Find the odd number
out.

(1) 89
@) 67
3) 51

(4) 97

The two words given below are related 53,

in a certain way. Which of the options
contain two words that are related the
same way?

Paper : Wood

(1) Brick : Clay
(2) Brush : Paint
(3) Fruit: Tree

(4) Ink : Colour

ST
A,B,C,E H,M, ?

(4) X

A et Y I et # ¥ @i e
AT mRIwIa R TR e, s
s deqT 7y |ifem)

(1) 89

(2) 67

A R U == A9 &7 § 977 9
g e Rerea & T8 < grox € S ST IR
S © THST

(1) = fag

(2) w9T:9e

(3) e U

(4) TR &

2024/A
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54.In a code language, REASONING is 54, us wmr ®r® ¥ REASONING #'

55.

56.

coded as AERNOSGNI. How would
NOSTALGIC be coded in that
language?

(1) GICNOSTAL
(2) ONTSLACIG
(3) SONLATCIG

(4) TSONIGLAC

In a family, there are two married &5,

couples. Q is the granddaughter of P. R
is the wife of S and mother of Q. T is the
grandmother of U and mother of R. If
the family has equal number of males
and females, which of the following is
false?

(1) U is the brother of Q
(2) P isthe husband of T
(3) R isthe daughter P

(4) P has two grandsons

AERNOSGNI ¥ &7 & wréfsa fiar mar §)
It wreT ¥ NOSTALGIC ¥ =rfisa

S

(1) GICNOSTAL
(2) ONTSLACIG
(3) SONLATCIG

(4) TSONIGLAC

TF TR H I RafRg S )1 P A7 AT
Q 218 AR ENQ HfatyUHR
A TE ST R At At &) 9 oRea= & a9
Hegs 7oy o Afgemd €, a9 e § #19-
qT T &7

(1) QFAEUR

(2) ToTafdPg

(3) PHRaETRE

4) PFIaarTa €

Which is the missing number in the 56.ﬁ'ﬁﬁﬁﬂﬁ'@T—Qj’@ﬂTﬁ‘ﬂﬁ'ﬂ'—!ﬂ'ﬁ'@Tﬂﬁ

following number series?
3, 8,24,63,?,288

(1) 143
(2) 120
(3) 168

(4) 195

{4

3, 8,24,63,7,288
(1) 143

2) 120

(3) 168

(4) 195
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57. How many numbers in the following 57 RwmfefaT FeAwH qerT-gaer ¥ T favaet

ascending number sequence are . . »
divisible by both 3 and 7 and are weamd § 7 3 3 7 At § Rrrew 1 &

immediately preceded by an odd T 919 I8 3% TE TH ALH L (L4

number?
3, 14, 21, 33, 42, 56, 63, 77, 84, 98, 105,
3, 14, 21, 33, 42, 56, 63, 77, 84, 98, 105,
126, 132 126, 132
(1) 2 (1) 2
(2) 3 ) 3
(3) 4 (3) 4
4) 5 (4) 5

58. Which two signs in the following 58 Rwfifem TfiFr & F=-8 o [/ Hit

equation should be interchanged to

make it correct? ST-aaeT A & FHHT A Y e
27+6%x10—16+4 =33 27 +6x10-16+4 =33

(1) —and =+ (1) -+

(2) x and - 2) xdeo

(3) +and - @) + o

(4) ~and+ (4) = 3T+

59. The numbers in the following triplet are 59 FefRiRT A% & e AT &7 ¥ =1
related in a certain way. Which triplet tafr & 23 - B & damt

has the numbers related the same way?

(5,12, 13) w7 & w47
(5, 12, 13)

(1) (6,8,9) (1) (6,8,9)

(2) (7,24,25) (2) (7,24,25)

(3) (8,16, 17) (3) (8, 16, 17)

4) (9,18,19) 4) (9, 18, 19)

2024/A 18|Page(PTO)



60. Eight persons designated alphabetically 60, ws framsfd o F st A< A FH a% A5
from A to H aressitting around a circular sy R e B HB, chHat

table facing the centre. B is second to the
left of C and third to the right of E. A is I F Aflr mm R AR E i oifgHft &
facing F who is adjacent to B. D is not T A FTHEF £ AETB
sitting opposite to B and is adjacent to

C. A and G are neighbours. ¥ U FT 81 D, B & Aol & ¥ T §
ICHFIE R ARG T=KRf €

Who is siting opposite B.
9B ¥Rl d=r 7
(1) G (1) G
(2) H (2) H
(3) A 3) A
(4) D (4) D

61. The numbers are arranged according to 61, fRer sy ¥ w& RAAT FagER T &

a certain pattern in the following figure. ) . R
Which number will replace the question TR | P TR

mark? FGM?

(1) 11 (1) 11
29 ) 9
(3) 14 (3) 14
“4) 8 4) 8
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62. The two letter-clusters on the left of the ¢ *.’ =g #t aT¢ A< & IWT-THE T* AW

63.

64.

sign ‘::’ are related in a certain way. The
same relationship holds for the two
letter-clusters on the right of the sign ::’
of which one is missing. Find the missing
one.

CDEF : UVWX :: FGHI : ?

(1) STUR
(2) VWXY
(3) RSTU
(4) RQPO

Three of the following four word-pairs 3,

are alike in a certain way and one is
different. Find the odd word-pair out.

(1) Newspaper : Editor
(2) Film : Director

(3) Poem : Poet

(4) People : Actor

Ankush walks 160 meters from his home g4,

towards East. Then he takes a left turn
and walks 40 meters. Then he takes two
successive right turns walking 60 and
200 meters, respectively. Finally, he
takes a right turn and walks 100 meters
to reach the club house. What is the air
distance of his home from the club
house?

(1) 150 meters
(2) 180 meters
(3) 200 meters

(4) 225 meters

®7 F qreT gty § o Reg 6 afg
AT &Y AALT-THE ¥ TG I T gt
¢ A R Tr Al @ SRl R se sitw
CDEF : UVWX :: FGHI : ?

(1) STUR
(2) VWXY
(3) RSTU
(4) RQPO

A Re T 1 a7 F ¥ i reR T
Ay yR @ gafra § ik T o & 9
gifen)

(1) FHTHRYS : 9UTeH

(2) fhew: e

(3) Ffaar: ==

(4) T St

ST FU AT { qF AT Fi A 160 Hrex
SraT 81 FRT ag o S e 40 Hiex Fwrar

2 TR g ST &7 91X TRt Ak g=a U
FALT: 60 HeT 3l 200 HieX STaAT R HT A

g TR ST A TS IS q Gga &
T 100 Hiex 94T §1 T ST & SHF H

A gaTs T et /2
(1) 150 Hrex
(2) 180 Hrex
(3) 200 Hrex
(4) 225 X
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65. Which of the options would come nextin g5, sz sl dwaT ¥ 39 & o+ ¥q gureT ¥ #+-

66.

67.

the following alpha-numeric series?
375, 8X7, 15U9, 24Q11, 35L13, ?

(1) 46E15
(2) 48F15
(3) 50F17

(4) 48E15

Varun is 15" from the left end of a row g,

and Neha is 12™ from the right end of
the row. Sunita is exactly in the middle
of Varun and Neha. If Varun and Neha
interchange their positions, Varun
becomes 25™ from the left end of the
row. How many persons are there
between Sunita and Neha?

(1) 6
@) 5
(3) 4

(4) 3

The hour and the minute hand of a clock g7,

coincide at the midnight. How many
times will they cross each other during
the next 12 hours?

(1) 13
Q) 12
3) 11

4 10

a7 e g F srn?
325, 8X7, 15U9, 24Q11, 35L13, ?

(1) 46E15
(2) 48F15
(3) 50F17

(4) 48E15

TFFAL I TE AT TR 15 F IR
AT A FAR fr TR AT 12 F W R
8 TitaT St = s AT F =i )
If F%07 3 AET STU T I ASAT—
TIEAT Y, AT 7T FATC HiY 978 M F 25 F
T 9T BN gAaT o] AT ¥ i e
T &2

(1) 6
2) 5
(3) 4

4) 3

Ty # wEt i wer i s e 93
A9 F G AT 31 3T g HEA A F AV
T AT Y faeit o I F3i?

(1) 13

2024/A

21 |Page(PTO)



68. Four friends Amit, Joy, Rinku and 8. sifim, s/, fog e gae o< B, wa@s a-

69.

Suman play 2 games each. Amit does not
play Tennis and Chess. Joy and Rinku
both play football. Suman does not play
tennis and football. Joy does not play
Chess and Badminton. Rinku does not

o aw AW 1 srfdra 2R i 3| =t &=
v I g geater a9 & gaw 2Ry ek
pedlw g Aean s A9 A defieT T
e, g defie 7€t @wam

play Badminton.

Which game is played by maximum FYT-GT AT GATH TRAAT T GAT STT?
number of persons?

(1) Badminton (1) F=fifeT

(2) Tennis ) ==

(3) Chess (3) I

(4) Football (4) eate

The figures in the following series g9, fAmforfRe gaem ¥ deamd ws w7 § &t 1§
progress in a pattern. Which of the

option figures would replace the gl F-Y RweT Y g gEar ¥ wy g
question mark in the series? T TR
o & a
m X ® & X0 0 = @\ & ?
o o @ # s
@ ) # e/
# ol|ll# Xo|loX@|[|[# XD
© A v #*
(P) Q@ (R) S)
(1) P (1) P
2 Q ) Q
3) R 3 R
4 S 4) S
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70. A

71.

statement is
Decide which of the
conclusions logically follow(s) from the

conclusions.

statement.

Statement:

Having a good voice is a natural gift, but
one has to continue practicing to
improve one’s tonal texture to excel in
singing.

Conclusion

I It is important to nurture the natural

gift with care.
I1. Even though one’s voice is not good,
one must keep practicing.

(1) Only conclusion I follows
(2) Only conclusion II follows
(3) Both I and II follow

(4) Neither I nor II follows

Three statements are followed by three 77,

conclusions. Assuming the statements
to be true, decide which of the
conclusion(s) logically follow(s).

Statements:

1. Some herbs are trees.

2. All plants are herbs.

3. All trees are living beings.

Conclusions:

I. Some plants are living beings.
II. Some living beings are herbs.
ITI. No plant is a living being.

(1) Only conclusion I follows
(2) Only conclusions I and II follow
(3) Only I and either II or III follow

(4) Only II and either I or III follow

followed by two 70, ww waw ¥ arz € e Rg g & F-ar

ot e ¥ sIgE ThETT §7
YT

I T TP Ft I 1 9g A H
ST BIAS L & T sreqe AT
AT

S

| STFRI & Y FAgEF GHTEHT AR
I1. 39T T =T 7 g, Y A e H
TgAT TR

(1) ok e |

(2) ok e |

ONEKE

ORE N EEI T i

7 ot % a1 i e [ o &) weet
%Y I AHA gU FaqT5C fF F-a1/48 Fwer
THETT T § TET 87

T

1. FF A IS &I

2, geft Y e §)

3. g4t s ST g

Ao

1. %5 I sfie &)

I1. FF ST e §)

. € o drer Sfg T& & |

(1) Faer Ao | sreor Far § |

(2) Faer ARy | $i% || AqaT F:d 5
(3) Faer | T 1 =T [l SIEor FLar g |

(4) F=er 1l qaT | =7 | SATETor Far g |
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72. Find the correct mirror image of the
following figure from among the option

72. Ru 7o et * & Fw sl f soges
wRef gifeg)

figures.
(X)
4 A ] ¥
) Q@ R) )
(1) P (1) P
2 Q 2) Q
(3) R 3) R
“4) S 4) S

73. Given below is a statement followed by
two courses of action numbered I and II.
A course of action is a follow-up action
to be taken for improvement. Assume
the statement to be true and decide
which courses of action logically
follow(s).

Statement:

The alert villagers collectively caught a
group of dreaded dacoits armed with
murderous weapons.

Courses of action:

L. The villagers should be provided with
sophisticated weapons.

II. The villagers should be rewarded for
their unity and courage.

(1) Only I follows

(2) Only II follows

(3) Both I and II follow
(4) Neither I nor II follows

73. fer o % g | o 1 F e @ & FdaTeat
& 7€ ) T FaE W F R s
AT FTE §| T T GF A §C TATZQC
& #-et At ST g

T

it F gadh S ¥ WEHT THAT H [Ig
TeheT o I STae gl A
FIRATAT

|. STtErATEI Y AT FA-T I AR
|1, sTtEETSY T I THAT TAT ATEH &
& HEAT AR

(1) Ferer fAsHy | ST @R AT §

(2) Faer ARy || SaeT FaT &

(3) | 3% 1l T SATELT FAT

(4) 13T 1| Y FTIXT AT FLAT §
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74. The first two figures on the left of “::” are 74, .- g i ard A aw @ st o
related in a certain way. The two figures ad S o R
on the right of “::> are related the same = q L w
way but one of the figures is missing. ZIfeft e #it T st sft aweaT W
Find the missing figure from the &7 & dafue &, W Y w e & P

oprions oo 9 77 Sy A1 AR
$' : EE :: 1;1 - ?
JPIPBPd|1h
(P) @ R) )

(1) P (1) P

2) Q 2 Q

3) R (3) R

4) S 4) S

75.In an examination of 60 questions, 75 g0 w§f ¥ TOET ¥ TAF TT F TEr I F

correct answer to each question earns 1 . .
mark and wrong answer is given -2 forg 1 3 § A% Ffm2s 8

marks. A student answered all the TF I A q9fY AT & S RY k3w 36

questfons anq got 36 marks. How many i ST g1 99 S A e T T Rw?
questions did the student answer

correctly?

(1) 46 (1) 46
(2) 48 (2) 48
(3) 50 (3) 50
(4) 52 (4) 52

3

]
o
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76. How many triangles are there in the 7¢ fRw arsfa & fvaw B § 2

following figure?

(1) 18 (1) 18
(2) 20 2) 20
(3) 22 (3) 22
(4) 24 (4) 24

77. A solid cube with each side measuring 8 77, TF 59 FT I3+ 974 8 CM g| U C AT LR
cm is painted red, yellow and green on f’f ) . .
pairs of opposite faces. The cube is then e o, f AT

cut into smaller cubes with each side AT &1 T I U Gie-gre a1 | F1eT

measuring 2 cm. STaT & T A% 9 2 CM B

How many cubes will have no face ) -
painted? foerer ==t & el farerge LEIRCE 1
(1) 4 (1) 4

2) 8 (2) 8

(3) 12 (3) 12

4) 16 4) 16

78. Two rotated positions of a cube are 78 us o Y & Ta=it g% Rufywt & f & af?

given below. Which number will be at . >
the top if ‘5’ is at the bottom? § i Tg 1 Fr-4T FI T

5
1) 3 (1) 3
(2 2 (2) 2
(3) 1 (3) 1
(4) 4 4) 4
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79. Which of the following Venn diagrams 79, sw-ar 37-antw geater &, et dx

best illustrates the relationships among
Football fans, Cricketers and Women
entrepreneurs?

(L) P
2 Q
() R
4 S

P

©
) (%))

#igeT IR § ot dok wr el TE
Iqtar §?

Q) @

(R) (S)
(1) P
2) Q
(3) R
(4) s

80.In the following diagram, the circle g0, fagr s ¥ farerst ¥ forg 3=, ==t ¥ fag

stands for ‘teachers’, the triangle stands
for ‘writers’, and the rectangle stands
for ‘activists.” The numbers in different
sections represent the number of people.
How many activists are writers but not

Frsger o= et 3 forg s T T €)
s sIgorT it SeaTd FRT T
g et € e el aEw §
fRreres i

teachers?
I ED
Teachers «ww—p
11
(1) 14 (1) 14
) 7 2) 7
(3) 9 (3) 9
4 11 4) 11
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SPACE FOR ROUGH WORK
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